POP Chapter 5 Review

Name: Period: Date:

I. (a) Factorize 3¢ + 13x —10.

2 \Sx - 2x — 0 ' _
Ix(x+5)-2(x+5) (x+5Y(3x-2) @

(b) Solve the equation 3¢ + 13x - 10=0. . S=()  3x-2:=0

(x+SY3x-2)=0 x=-5 3x=2 T{—S, 2/ 3}} @)

X =Yz

Consider a function f(x) = 35 + 13x -10.
(c) Find the equation of the axis of symmetry on the graph of this function.

KB TR
| 2(3) | ) . (2)

(d) Calculate the minimum value of llﬁé function. | bq Ibq
-3\ % - - [0 ’
3(&) +13 _%) -0 7 - [ o)

3\_@_2' +“L§_9f_' ..|O '__“_’2 5_,5_8__ IQ_L’.J _280, { Total 8 marks)
2. Letﬂ_.t)=?r(?—)3x—€0. (D) 12, - 12 Py = T2 by - Q'L{og

(a) Factorize ¥ =3x-10.

| (-5 )xFY)

(b) Hence, or otherwise, solve the equation O =3r-10=0,

_ =0
%’*gixi?; —2- m -2, S} )

(2)

{Total 4 marks)

3. Letfivy =26 + dx - 6.

(a) Express f{x) in the form f{x) = 2(x - N +k -~
tot) = 2()(11-’2.&-%\_]_,3/“3} % =Q_(x+,,)‘2._gj 3)
+¥ 720+ 1) - -

(b) Write down the equation of the axis of symmetry of the graph of f.

X:-—-’ in

(c) Express fix) in the form flv) = 2(x - p)(x - ({%ﬁi&?._(&z 4"_ 2)( - ?D )
'F (x‘) - Q(X- ' XX 4'3) ’ (Total 6 marltc;;




4. The following diagram shows part of the graph of f, where f(x) = Y -x-2.

. 0= x%x =2
O=Cx+1Xc =2
(a) Find both x-intercepts.
x= 3-, 2}
()
(b) Find the x-coordinate of the vertex.

\ / | 2.(1)
TX = _L W {Total 6 marks)

5. The figure below shows part of the graph of a quadratic function y = ac +4¢+c.

v

Yaxitix+b
(a) Write down the value of . D ~ 05)2 + L{’(é) "HO .
ﬁ;— D=4da + |24k
(b) Find the value of a. 0 - Cia = /"8 4
o= 2] i
(c} Write the quadratic function in its factorized form.
Y72+t 6 .
- -3 -
f=-2(x*>>2x—-3) /
m =—-2 Q(-f- | x - 3)J (Total 8 marks)

6. The diagram shows the parabola y = (7 — x)(1 + x). The points A and C are the x-intercepts and the point B is

the maximum point. (\[}'

. D ~ ‘
\601 O=T7-X o= /71X

~7 = -k -/ =X
F =X

'“‘/4 \C i j-’*")(z oK 7 ;wd& - -(3)*+6(3)1?

Find the coordinates of A, B and C.)(_Ij @(‘(‘}A X - Q.("/) P }l\
Y .




- The height h (in feet) of a golf ball t seconds after it leaves the ground is modeled by

h(t) = —16(t — 2)* + 76.

a. Find the maximum height of the golf ball. E_)Ela’lﬂyour answer using mathematical evidence and academic

vocabulary from the quadratics unit.

7 Foet ,)\(Angwﬂ’s el \/afg-)

b. How many seconds after the golf ball leaves the ground does it reach its maximum height? Explain your answer using
#
e ——

mathematical evidence and academic vocabulary from the quadratics unit.

N seconds (ng Mﬁ very )

c. Expand the equation given above and express it in standard form.

W) = b (124 +4) +76
W) = -lot>+L Yt —6H 76
W) = —Jbt® + b4t + 17

3

/8



d. After exactly how many seconds does the golf ball return to the ground? Express your answer in fully simplified,
exact terms. g—

x=-bt/p*-vac JHsey

- 20

v = =92 Joy* 1K)
2(-1b)

x=—b7% 4096+ 708

—32

x=-b91/ygpy
—3 X=$-0.18, 4183

2. Was the golf ball struck from ground Ievel?_Ei;_)'lil_r_ly_our-answer using mathematical evidence and academic
vocabulary from the quadratics unit.

Mo! Aﬂz;% bl Vo y.
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